NDAR<DEEAE> No.l

1. ROFEZ LR SV,

3z — by Tr — by
o)) s + 3
%.
20 =8y bz —y
(2) Z ;
%.
3) z—Ty— 6z + 5y
3
%.
8z + 8y 2x — 8y
4 _
1) 5 5
%.
2z + 8y 5T + 2y
(5) - + 3

6) QxnyrM
4
%.
2
0 Tr + 8y i T + 3y
) 4
%.
2x —
(8) 4x+3y+%8y
%.
5xr — 2y dx — Ty
(9) 5 + -
%.
(10) 3:1:+2y—%+7y
5.




ROHBE<HHEHAE>

1. ROFEZ LR SV,

(1

(2)

(3)

4

(5)

6x — 5y 5 +y

No.2

6 8
%.
x—4y Tr 4 8y
6 7 5
%.
dx + 2y Tr — by
5 7
%.
2x — by T+ 2y
6 7
%.
3z + by 9x — by
s 73

(6)

(7

9

(10)

6x — Ty dx — Ty
4 7
5.
8xr — 3y 5z + Ty
1 T 7
&,
2z + 3y r—y
1 "%
%.
Tr+4y  Tx+ty
2 )
%.
3z 4 2y Crty
)
%.




ROHBE<HHEHAE>

1. ROFEZ LR SV,

No.3

(1D x+y+%4y
%.
2x — vy 4o + 4y
2
(2 T+ 5
%.
9r+2y  Tx—9y
(3) 3 3
%.
6x — Ty Tr+y
4 _
@) 8 9
3
9r+y Tz —Ty
(5) 1 3

(10)

4x + 5y x — 2y
9 4
%.
6z + 4y 3xr — 4y
5 6
&.
3xr — 9y 8xr —y
7 7
%.
Tr + 4y Tr+y
2 5
%.
4z + Yy 5xr — 4y
6 8
%.




NDAR<DHEE> No.4

1. W@%{'g%bﬁéh‘o (6) 4x—3y + 5.’L'+y
7 5
2z + 3y T—Yy
1
(1 E
5.
% (7) ng5y B x—92y
5T — 2y T+ 2y
2
(2) R
&,
Ty | 5 %3 ) 20—y +
T+ Ty 5z + 3y
3
(3) . S
.
@) x + 8y n Tr 4 2y 6 9
7 9
S g.
(5) 2z + 8y n 5T + 2y 9 5
7 3
- %.




ROHBE<HHEHAE>

1. ROFEZ LR SV,

(1D x+y+L4y
%.
9x — Yy 8z + by
2
(2) 5 5
%.
6x — 3y x4y
(3) - 5
%.
M)Qx—4y+4—{;@L
%.
2x — by T+ 2y
(5) 5 -

6) m,5ny
2

%.
0 5T + 9y i 8z + 9y

3 2

&.
9r+4y 4z +9y

(8) - 5
%.

z+4dy -8y

9) 1 3
%.

(m)iﬁgﬂL—x+y
%.




